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. Question N'q 1 is> com'pulsqry. o

Attempt 5 more questioné selectipg 3 questions t%om Section A

and 2 questions from Section B. . -

" Use of simple calculator is allowed.
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s - - (vi) A, B and C are three muiually(ekclugive and
. Section A B : 0 ‘ -
RS ‘ . o ’1 o ' exhaustive events associated with a random
1 (@ :“Fill in the blanks : ‘ } | | '
' - f "+ experiment. Given that :
@ Fore Symmetric distribution, [T 5 3 S
EE A : ' k , P(B) = 5 P(A) and -P(C) = 5 P(B). then
R (/) B U5 th,e attributes of ' : : ‘eﬁt. ; .' . | |
- 3 LA and B are independer '.;f P(B) = o
then 88 SR e ion cosfficiont
, N e IR (viiiy The limits for rank correlation coefficient -
(f"')_ The algebraic sum of the deviations of 20 I’ R P
observatlons measured from 30is2. Therefore, mean | . (%) Two uncorrelated variables ........... . . be
of these observatnons IS ... i o R - ' indepeﬁdent.
()" ’ o (b .
) Correlatlon coefﬁc:ent is the ......... of the LIN()] lf the two regressnon lines are 3x + 12y =19,
."'egressmn coefﬁc]ems 3+ ox = 46, then find correlation ‘coefficient
- (") Total » e : ‘ betwéen x and-y. | '
Mumber of ultimate cjass frequency for " | . :
. Aributeg jg . . I @) IfPAUB)=2,PANB)=+ and P(A) = 1
LU T ‘\ o o o . 6 3 2
5 SN lf A and B 'then"ﬁnd P(A) and P(B). Hence show that A and
. are m“t“ally d1s10mt events, thef N i S
L ” .
P(AUB), . ! B are independent.
e, i
"P.T.O.




S iy If the, lines of regression ofl Y on X a“dj

: A (a)"_‘

; ‘Sbh.OW that the sum of the squares of the deviations ofx |

O In 2 ﬁeﬂ!’ency table, the upper boundary of each clﬂ%

s .

Show_ fhat the gedyneﬁ’ic mean ‘G ’may' be expres.sed 'b}ff

~ the formula ;-

Whe the Toc o ‘
= re xo is the logarithm' of the mid-value of ‘h#

. upper and lower boundanes

4 - et

X on Y. are respectively ax + by + ¢ =

~and .ayx + by + ¢;.= 0, then prove that!,

' ab, < d25|- . . 9"1,'3’.‘2¥

a set IS Mmoo 1
i of values is minimum when taken about mean-

interval. has s cr . o
..,.er\{al’.:has a constant ratio to the lower boundaf)

g J('o,'l-ﬁz f;(i-])‘

first intery .
_ al- and C is the logamhm of the ratio betweem

)
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What do you mean by skewness and kurtosis of a .

distribution ? Explain the methods of measuring skewness

and kurtosis of a frequency distribution.

Let X/, i=1,2,3, A be a discrete series. If the

- deviations x; = X, — M are small compared with mean M,

’

3 . '
: x Y. . - x
so thz‘xt (ﬁ) anq high powers of (ﬁ) are neglected,

then :

‘where G is the geometric mean, M is the arithmetic mean

and o is the standard deviation. .,6 6

Explain the principle of least squares. Obtain the equétion"

~of the line of regression of Y on X.
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: (b) ‘. .

(a)

® 1

@ s s L
@D State ang Prove Boglerg inequality

. value of :

( 6 ) ' 6711 il

If d be the fji'fferenée in the ranks of the ith indAiVid“‘!l '

in two different characteristics, then show that the maximum |

lf X and Y are '"dePendent fandom variables with zero

me . )
ans and Standard devnatlons 3 and 4 respectlvely, then

6,6

‘Séction B

‘ 6,6

®

. @

" and Cif :

® | One bag contains 5 white and 4 black balls. Another bag

6711

In a random arrangement of the letters of the word

N

COMMERCE, ﬁnd‘tﬁe probability that all the vowels _

~ come ‘tbgether. : . L 6,6

Show that in a population with three attributes A, B

-

@ (AB) = (AY and (BC) = (B), then (AC) = (A);

_(i}) If (AB) = (A) and (BC) = 0, thén (AC) = 0

Y

contains 7 white and 9 black balls. A ball is traﬁsferred

A :

from the first bag to the.secon'd,b‘ag and then a ball is

drawn from the second. Find the probability that the ball

is white. 6,6
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